—

(

(

PRGBS PFRRERRAI2EE2RY - Fh- 25 A4S PY 2 hiegpd
- _fi_f_{_ ﬁjﬁ%}‘u:_ ﬁ_%:
~ BLEIAL: sypos oz
)1 T 240 | EiAREAFOEEL 2 2. 237 éﬁ'm«ﬁ %’(F?v\;‘%w( ) s
O =rB;w-RLQ = B @t ofi e R ) s
@ —rBE;ERIm ERZIAS i $= A Rl ) o
)2. 10 B +-ArAec ke #5500 2 3.4 i,ﬁ-: fé-
O T ]

@D 10 @ 100
)3.F @R — AR LA LAY L A
Fan [ 454 69 | — -4 ?

@D 45+ 962 96+ 54(3) 69+ 45
4.85X> T 63+ 75= 138 | %>
Wt B R AR 2
D63 @7 (B 138
)5. AR AR S B m AR L 42+ 297
D60 @70 B 80
5 M ‘@%éi:@ﬂé@i% JE At
SRR 2B — <t kl o
1 ARS L& 8t %nf 1 fltir%
SN SR K R P 2
@ &I%Léﬁ@ #&EZ- e
@ — Kkt
)T T @ —-fEs ELR LAY LA %“E
b2 30 X% ? @D 92— 48@ 49
@) 51— 29
iR~ 50— 37= 13 | Tzl A»
BRLARS F AR B B ?
@D 13+ 502 50+ 373 13+ 37
9. Frmmaty: B Xt [ R
LT 2 39

)6.

"’#
%—‘Y

-
32
D39 @7 © 32
( )10der iR — k= %1892 K > B2
NERAEL R R BAR R
KERBLGLA A B #E ?
O #:0:Q #:%:10Q0 Fr¥:
S SHIHEER v v s 1A
% TH-F 1030% F 24 0 £ 334
IREEPNGS RN EE A

(1)

202

I

- 200

I
I

198 H

@)

118 H 108 H - + 78 H 68

3)

1 233 H 293 H 263 H

(DRI Fidan( ) Hmm—— L Elo
(o RIFiFen( ) Her=m—E ikl o
(3) R — B Frrbr LKL ?

B Ao (
AK+51EL? HEHEEETL o

IE.)

= S

!
| tessnsl]
: L )

i

E |I'iiiii'| ==
T T TR IR TR B
g8 9 10 Il 12 13 14 A?}{m
A ()81 R Re () Rige
5. A EEIEIAD
N i
Blrids ()M
= -
-
LR
Bk OR:

T2 R I BRLEL

( > (EEHIREDL)
6B R B by Hi X o
£ () AERHEINGKLES
14+ 18= 32
1) ( ) — 14 = 18
@2) 32— ( ) = 14
7oA — ABEART e AT Ay KRR
212 () 2
\? - . L >

8.7k "-7}4’“ R VAR

’2’/“2? (




9.
( MBS+ o

10ARS 40 Fr@s 5 ke #oF
5{;3/ F\‘-a :\%f/ o

17411205 || 279

(1B — -Gk B F»F 92 B 2L
A+ AL Fa L AR AL B e el A R
127 )

(o)A — -3k B FrF A9 B AL B
Foth st AL oD s A B LR
tbefBsfir o 2 ( )

(3R —-TR: WL F~F > 200 K7 o

tb2 210 /e 2 ( )

s~ ber—-ber e AR[] AE2IEIAG

> ~ < Hi= EROA £ 8 A

1) 196 [ ] 269

2) 289 [ ] =v@ziitrA

3) 264+ 28 [ ] 44

4) 65 [ ] 93— 28

v~ Bt v R B ELES

FREIA o E 6 A
(1.) 29+71= ( )

N K
T"FY« 9

300 || 182

—

(
(
(
(

(2.) 9+36= ( )

SELHL AR AL LA R LB S

B34 A > £ 8N

(1.) 64— 9= ( )

(2.) 74— 36=( )

® %

9 B .
% 7

1 1B E 2 Afas 12 B 7T 22035 8k -

H4EL A 0 £ 254
l.— &8k e % % rkl B2
et e s okl 38
G oth e BB ?
Rikeatge ?

2.08% ﬁ”:ﬁs% 5

7]')}&\)\5\%(4
R TLA =

R 2

WY
<&
A d

e
50

Bz MEE KL o
34 FarhEs F L0

£ 3T~ 238

ek BAF

3@ kA2 R —
¢

N L

A Ak

17 445

ReA

Wx
<3

B 28 e b REs Ay
He R LR A2

o
K 46 &L
B ?

Kk

G
s

ST AR

L 1
b LA 46 M

(1)—-#: R
31 Ty s
%‘_7871
L
g |
%2~

i
<3

XK .
/a\$’ :
M R N bb Y ;é qu 2o
(o)— ML RLA b — RO ELL R FL
- o = -
29 Ly —-MRAELRL B ALY ?
% 78 ~
% |
29 ~
= E
LV
XK
N
B E-Fiws T G AR ELSIR B!




